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ECONOMICS - HONOURS
First Paper
(Group - A)
Full Marks : 50
The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.
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(English Version )
The figures in the margin indicate full marks.
Section - A
Answer any five questions : 4x5

. Are the following statements positive, normative or ambiguous ? Justify your answer :

(a) ‘Medical cost is too high and needs to be reduced’.
(b) ‘Demand for petrol falls as its price rises’. 2+2

Humans need water to survive, while diamonds are not necessary. Then what is the rationale behind the
fact that water is so cheap and diamonds are so expensive? 4

Define and give an example of a public good. Can the private market provide this good on its own?
Explain. 242

Why does a demand curve slope downward? How do a change in price and a change in consumer’s
taste affect the demand curve? 2+2
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5. ‘The price elasticity of supply is usually larger in the short run than in the long run’. Do you agree with

the statement? Give reasons for your answer. 4

6. Why might some economists oppose minimum wage law? 4

7. Why do taxes generate deadweight loss? 4

8. Who is a free rider? Can an individual be a free rider while consuming a private good? 3+1
Section - B

Answer any five questions. 6x5

9. Imagine a society that produces military goods and consumer goods, represented by ‘guns’ and ‘butter’
respectively.

(a) Draw a production possibility frontier for guns and butter. Give economic reason for its likely
shape.

(b) In your diagram show a point that is impossible for the economy to achieve. Show another point
that is feasible but inefficient.

(c) Suppose that the society has two political parties — A (which wants a strong military) and B
(which wants a smaller military). Show points in your graph that A and B might choose.

(d) Now imagine that an aggressive neighbouring country reduces the size of its military. As a result,
both the parties reduce their desired production of guns by the same amount. Which party would
get the bigger ‘peace dividend’, measured by increase in butter production? Explain.  2+1+1+2

10. Consider the markets for DVD movies, Television and movie tickets.

(a) For each of the following pair, identify with reason whether they are complements or substitutes :
(i) DVDs and Televisions
(ii) DVDs and movie tickets
(iii) Televisions and movie tickets

(b) Suppose a technological change reduces the cost of manufacturing Televisions. Using demand
supply diagrams show what happens in the each of the markets for DVDs, Televisions and movie
tickets. 3+3

11. (a) What is the relationship between demand elasticity and revenue?

(b) Sneha has decided to spend always one-thind of her income on clothing. Find the price and income

elasticities of Sneha’s demand for clothing. 2+(2+2)
12. Assume that the government of a country wants to reduce air pollution by reducing its use of petrol. For
this it takes a policy of imposing a tax on petrol.

gr

(b) Show how the government can achieve the same goal by using price control policy. 4+2
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13. (a) What are the limitations of cardinal utility approach to consumer behaviour ?

(b) Suppose a consumer consumes 2 goods X and Y. If the marginal utility of good X is twice that
of marginal utility of good Y, then would he consume more, less or same amount of X to maximize
his utility? Give reasons for your answers. 2+4

14. Consider the market for education.
(a) Why might such market exhibit positive externality?

(b) Using a graph show how and why presence of such externality affects the efficiency of market
outcome?

(c) What government policy might help to correct such market failure? 1+4+1

15. The government feels that the free-market price of tomato is too low.

(a) Suppose the government imposes a binding price floor in the tomato market. Will this lead to a
shortage or a surplus in the tomato market? Explain diagrammatically.

(b) Farmers complain that the price floor has reduced their total revenue. Is this possible? Jultify.
3+3
16. It is often argued that overfishing of some specific variety of fish has led to near-exhaustion of the stock
of the given fish.
(a) Is overfishing rational for fishermen? Give reasons.

(b) Can a local cummunmity of fishermen, held together by ties of obligation and mutual self-interest
manage its common resource on its own? Explain.

(c) How can government policies solve such problem? 2+2+2
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